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Short answer questions/problems [+10 each]

1.  Your boss has told you that the firm that you work for (Inthedark Inc.) accepts and rejects all projects according to discounted payback period.  What is discounted payback period and under what conditions are projects accepted with this criteria?

Number of years to recover initial investment with the present value of the project’s cash flows.  Accept project(s) with shortest (if mutually exclusive) discounted payback < acceptable maximum.

2.  Several years ago, Dow Mania Inc. bought a warehouse in Dallas for $2.5 million.  Dow has been renting this warehouse for the past two years for $100,000 per year and can continue to rent the warehouse for the next several years for $110,000 per year.  However, Dow is considering using this warehouse again itself.  If Dow’s tax rate is 35%, how should Dow factor the warehouse into its net present value analysis? (Note:  use + to indicate an increase in cash flows and a – to indicate a decrease in cash flow).

CF (annually) = -110,000(1-.35) = -71,500

3.  What is the name of the analysis which explicitly models variable interactions and variable randomness then runs a computer simulation?

Monte Carlo Simulation

4.  Assume a project being considered by your firm can be expanded if it succeeds.  Your boss has asked you to figure out what this option is worth using the black-scholes option pricing model.  What should you use as V0  when calculating the value of this option?

Present value of the cash flows from the expansion

5.  Under what conditions is it acceptable to use the average beta of the securities issued by the firm as a proxy for the risk of a project the firm is considering undertaking?

When the new project has the same risk as the firm’s existing assets.

6.  List two of the four conditions that must be met before a firm can qualify to issue securities via a shelf registration.

Two of:  firm rated “investment” grade, firm has not defaulted in past 3 years, market value of stock > $150 million, no violation of Securities Act of 1934 for at least 3 years.

7.  What is a call premium on a bond and when is it paid?

Difference between the call price and the par value; paid when bond called by firm.

8.  What evidence do we have on how stock prices actually react to changes in a firm’s capital structure?

Stock prices rise on average when firms announce will issue debt and repurchase stock and fall on average when firms announce will issue stock and retire debt.

9.  You own stock in Extreme Investing Inc. which has recently announced that it plans to issue a substantial amount of debt and use the proceeds to repurchase shares of Extreme.  How will this change the risk you face as a stockholder in Extreme and why?

Increased since the least risky cash flows have now been promised to the bondholders.

Key to Exam III; F4360; 11:00 Class; Spring, 2000; page 2 of 3

10.  Under the current tax code, the tax rates on dividends are the same as the tax rates on interest income.  List two reasons that personal taxes might still reduce the benefit of debt to a corporation.

1)  capital gains may be taxed at a lower rate than ordinary income, 2) firms can repurchase shares rather than pay dividends shareholders only pay taxes on the gain not the entire distribution.

Problems/Essays

Note on grading essays:  The numbers in brackets represent the number of “checks” possible for each concept.  Use the scale at the bottom to convert to points out of 50 possible.

1.  Assume that Market Gyrations Inc. will earn $500 before interest and taxes per year forever.  Also assume that the all cash flows are perfectly predictable so that all investors are happy with an after-tax, risk-free return of 8% per year.  Assume also that investors pay no taxes on earnings from stock holdings but that they pay taxes on interest income according to their marginal tax rate.  Some investors have a 0% marginal tax rate, some have a 25% marginal tax rate, some have a 35% marginal tax rate, and some have a 39% marginal tax rate.  Assume also that the marginal tax rate for corporations is 35% and that Market Value has issued bonds which promise to pay a total of $200 of interest per year forever.  

a.  What equilibrium before-tax interest rate will exist in the bond market?

b.  Show how once the market reaches equilibrium, investors in the 25% tax bracket have an incentive to own bonds and how investors in the 39% tax bracket have an incentive to own stocks.

a.  Investors in 35% tax bracket will demand an 8% after-tax return.  Thus, the equilibrium value of bonds = $200(1-.35)/.08 = $1625.  The before-tax interest rate thus equals 200/1625 = .12308

Checks:  200 [2 each], (1-.35) [4], /.08 [2]

b.  The after-tax value of the bonds to investors in the 25% tax bracket is 200(1-.25)/.08 = $1875 > equilibrium price of 1625...they thus want to buy the bonds.  The after-tax value of the bonds to investors in the 39% tax bracket is 200(1-.39)/.08 = $1525 < equilibrium price of $1625...they thus do not want to buy the bonds.

Checks:  200 [2 each], (1-.25) [4], (1-.39) [4], /.08 [2 each], compare to equilibrium price [6 each], preference [2 each]

or.  b.  The after-tax return to bondholders in the 25% tax bracket is 200(1-.25)/1625 = .09231 > .08 and the after-tax return to bondholders in the 39% tax bracket is 200(1-.39)/1625 = .07508 < .08.

Checks: 200 [2 each], (1-.25) [4], (1-.39) [4], /1625 [2 each], compare to .08 [6 each], preference [2 each]

Scale [checks = points]:  44=50, 38=49, 32=47, 30=46, 28=45, 22=44, 18=43, 16=42, 14=41, 12=40, 10=38, 8=36, 7=35, 6=33, 5=31, 4=29, 2=25
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2.  Suppose that Gradient Corp. has both debt and equity in its capital structure.  

a.  Discuss the two actions that don’t involve the firm’s investment policy that stockholders might encourage the firm to undertake which would steal from bondholders.  Be sure to include a discussion of what these actions are and why stockholders benefit and bondholders lose if the firm undertakes these actions.   

b.  How might bondholders have protected themselves from these two actions?

a.  
1) Issue debt [2] with the same priority of claim as existing debt [2].  

=> The new bonds dilute the claim of the original bondholders [2] so that the original bonds lose value [2].  

=> The stockholders capture this value [2].

2) Payment of dividends.  The dividend payment reduces the value of the firm’s assets as the firm pays out cash [4].  

=> When this cash is paid out, the value of both stocks and bonds fall [4].  

=> Since the value of the stock declines less than the dividend [2], the stockholders have a net gain at the bondholder’s expense [2].  

=> Also, the payment of risk-free cash increases the risk of the firm [2].  

=> This increase in risk also benefits stockholders as the expense of bondholders [2].

b.  Restrictive covenants [4], monitoring [4], and convertible debt when debt was originally issued [4].

Scale [checks = points]:  32=50, 28=48, 27=47, 22=45, 17=43, 16=42, 15=41, 14=39, 13=37, 11=35, 10=34, 8=33, 7=32, 6=31, 4=30, 2=25

